| firstDSM -> lastDSM (including BTOW if in run) | Entries 10000

Mean 1515
RMS 1282
10* =
10°
10° 57
b 1
B M
1 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 r
5000 10000 15000 20000 25000 30000 35000
us
| lastDSM -> trg | Entries 10000
Mean 28.45
. RMS 8.234
10" 57
103 ="
10° E-
10 =
1 §|_I I 1 1 1 1 I 1 1 1 I l 1 1 l I 1 1 1 1 I 1 1 1 1 I 1 1 |I_|I I 1 1 1 1 I 1 1 1 1 I I|_I| 1 1 I 1

50 100 150 200 250 300 350 400 450 500
us



| L2 algorithm time (trg -> evtacc) | Entries 10000

Mean 5.268
e RMS 0.6288
10° 5
10° BT
10 Er
B 1 | 1 1 | 1 ||_| 1 | 1 H 1 H 1 H 1 | 1 H 1
6 8 10 12 14 16
us
| Accept (evtacc -> accsent) | Entries 10000
Mean 1.198
- RMS 0.736
10° -
10° -
10 ==
e ﬁ % 5
= 1 1 1 | [l 1 1 1 | ||_| 1 1 1 | 1 1 ||_| 1 ||_|| 1 m ||_| 1 1 1 1 | 1 1 |_|| 1 |
5 10 15 20 25 30 35

us



| Release (accsent -> relsent) | Entries 10000
ean .

RMS 7.159

10*

1....I....I..|_||.I....I....I....I....I..H.I...

100 150 200 250 300 350 400 450
us

N —
T 1600

1400

1200

1000

800

600

400

200

00 10 20 30 40 50 60 70 80 90

percent of run



10*

10

10°

10

| lastDSM -> accept |

10*

10

10?

10

| firstbSM->accept sent Entries 10000
Mean 1559
RMS 1282
B LLI_'T mmiliy
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 I 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 ||_
5000 10000 15000 20000 25000 30000 35000
us
Entries 10000
Mean 36.51
RMS 8.486
? I 1 1 1 1 I 1 Hl I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 ||_|| 1 1 1 I 1 1 1 1 I 1 1 ||_| 1 I 1 1
50 100 150 200 250 300 350 400 450 500

us




| BBC times (relative to L1) | Entries 10000

Mean 8.224

RMS 52.61

10*F -[
10°F
10°F
10
1g
;|' 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I|_|||_|

| BC1times (relative to L1) |

Entries 10000

Mean 34.58

10*

10

10?

10

]

|

Ll

RMS 53.64

W
0

-600

-400 -200

-800 -600 -400 -200 0 200
us
| BCE times (relative to L1) | Entries 10000
Mean 19.23
4 RMS 53.71
10°F
10°F
10°F
10?
1k ﬂ J_‘
:[ 1 1 1 | 1 1 1 | 1 1 1 ||_|| 1 1 | 1 1 1 [l

-800 -600 -400

-200 0 200

us

| BCW times (relative to L1) |

0 200
us

Entries 10000

Mean 39.45
104 C RMS 29.73
10°F
10°F
10
1E
F 1 1 1 | 1 1 1 | 1 |_| 1 ||_|| 1 1 | 1 1 1 | 1
-800 -600 -400 -200 0 200
us



| FPE times (relative to L1) |

Entries 10000
Mean -2.129e+09

10°F
10°F
10° {
10F 5
:I I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 xlo
-2000 -1500 -1000
us

| CTB times (relative to L1) |

Entries 10000
Mean -2.129e+09

1o4§ RMS 51226406
103%
102%
1O%|H"|"""'u.|.,,lxloe

2000  -1500 _ -1000

us

| FPW times (relative to L1) | Eniries 10000

10*

10°

10°

10

Mean -2.129e+09

RMS  5.122e+06

|||||||||||||||||||||X:I.O6
-2000  -1500 -1000  -500

us



| BTOW times (relative to L1) |

10*

10

10°

10

10*

10°

10°

10

Entries 10000
Mean 1494
RMS 1284
B —lil—\ M M
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 l_
5000 10000 15000 20000 25000 30000 35000
us
| ETOW times (relative to L1) | Entries 10000
Mean -2.129e+09
RMS 5.1226+06
§| I 1 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 1 x]—O6
-2000 -1500 -1000 -500

us




L1Time 1l Entries 10000

Mean 68.07
RMS 7.64

10*

10

102

10

: ]
) ] ) ) ) ) ] .|_|.|_|. ] )
200 250 300
Entries 10000
Mean 24.43
RMS 45.05
10* =1
10° =r
102 =1
10 == . . ] . . ] . . . H ] . . . . ] . . . . ] . . . ]
100 200 300 400 500 600
us
Entries 10000
Mean 34.13
10 BE= RMS 4.816
10° ==
102 &+
10 =1
3= I
e .y e e s
20 40 60 80 100 120

us



B9 1] T a——
wean 105

0.4259

10

us
S
fs o
10°F I
10? 3
105—
1F
o 1 1 1 1 1 1 1 1
0 02040608 1 12141618 2
us
T
ean .
s o
103 E_ -
10°F
10F
1F
L 1 1 1 1 1 1 1 1
0 02040608 1 12141618 2
us
alg13 Entries 1
Mean 5
v .
15— 1
10'15—
107
10°F
E 1 1 1 1

o
P
IN)
w
IN
o
o

10°F I
10°F

10

s

[T Liaalosslisl
0 02040608 112141618 2
us

e
10°F I
10°F
10F
l -
1 1 1 1 1 1 1 1
002040608 1 12141618 2
us
alg10 ;;‘:S
e
10°F n
102 -
10F
Ax
1 1 1 1 1 1 1 1
0 02040608 1 12141618 2
us
algl4 "EANNES
10°F I
10°F
10F
Ax
1 1 1 1 1 1 1 1
002040608 1 12141618 2
us

1347

1
o

1180

1
o

1063

1
o

177

1
o

Enties 1127

Wean )
fws o
lO3 E
102k
10
1F

Looalasaileal Looaliealonl
0 02040608 1 12141618 2
us

Entries 1163

ean :
10°F
10°F
lOE-
1F
L. 1 1 1 1 1 1 1 1
0 02040608 1 12141618 2
us
algll ZHE‘;:'ES 116]1
- o
10°E
10°F
10
1F
L. 1 1 1 1 1 1 1 1
0 02040608 1 1.2141618 2
us
algls ;ﬂ;{::s lZECj
F M 0
3
10 3
10°F
lOE-
1F
E. 1 1 1 1 1 1 1 1
0 02040608 1 12141618 2
us

s
vean
—
10°F
10F
1F

Liaaloesliasl Looaliasleanl
002040608 112141618 2
us

Entries

F —
103 E_ -
10°F
10
1F
L. 1 1 1 1 1 1 1 1
002040608 1 12141618 2
us
alg12 s
| —
10°F I
10? E
10F
1F
E. 1 1 1 1 1 1 1 1
002040608 1 12141618 2
us
alg16 fﬂl‘:es
F —
10° I
10°F
1F
L, 1 1 1 1 1 1 1 1
002040608 1 12141618 2
us

1164

1
0

142
1
0

1108

1
0

1170

1
o



Entries 1136

wean L
s o
1 03 L -
10°F
10F
1F

[ | Looalassleal
0 02040608 112141618 2
us

algzl Entries 1093
wean R
fs o
10°F 1
10° 3
10F
1F
E 1 1 1 1 1 1 1 1
002040608 1 1.2141618 2
us
o2 R
s o
10°F 1
10°F
10
1F
L. 1 1 1 1 1 1 1 1
002040608 1 1.2141618 2
us
alg29 e “3]‘
fos o
103 E_ -
10°F
105—
3

[T P | Looalasslaal
0 02040608 112141618 2
us

BT
Mean
s
103 | -
10°F
10F
1k

[T Liaalosslisl
0 02040608 112141618 2
us

a|922 ;nmc:
RS
10°L I
10°F
10F
1 -
1 1 1 1 1 1 1 1
0 02040608 1 1.21.4161.8 2
us
alg26 e
RMS
1k —
107
107 F
10°F
1 1 1 1
0 05 1 15 2 25 3
us
a|g30 inmes
103 L -
10°F
10F
1k
1 1 1 1 1 1 1 1
002040608 1 12141618 2
us

1116

1
o

1155

1
o

1
2

1083

1
o

- ETTS
Wean
—
lO3 E
10°F
10
1F

Looalasaileal Looaliealonl
0 02040608 1 12141618 2
us

Eies
s
10°F
10°F
105_
1F
L 1 1 1 1 1 1 1 1
0 02040608 1 12141618 2
us
alg27 nves
s
10"k
10? 3
105-
1F
E. 1 1 1 1 1 1 1 1

0 02040608 1 12141618 2

us
alg31 ;“E‘:S
F e
3
10
10°F
10
1F
L. 1 1 1 1 1 1 1 1
0 02040608 112141618 2

us

1130

1
0

1153

1
0

1078

1
o

1165

1
o

Entries 1133
Mean 1

10

E

Rvs o

0 0.

Liaaloesliasl Looaliasleanl
2040608 112141618 2
us

Entries 1138
Mean N

10°

rws o

10F
1F
L. 1 1 1 1 1 1 1 1
002040608 112141618 2
us
algzg ;Zlan:s JDZ?
fvs o
10° -

002040608 112141618 2
us
alng hE,‘l;l;:es 113]1
fvs o
10° -

10?

10

1

0 0.

Liaalossliasl Looaliasleanl
2040608 112141618 2
us



